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1’ 612 [

and
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(1) Yamuna
(2) Indus
GENERAL KNOWLEDGE ] Gangg
; (4) Brahmaputra
13. The remains of Vijayanagar
1. Which of the following is (1) Lord Dufferein Empire have been found at
known as laughing gas? (2) Lord Rippon (1) Baroda
(1) SO, (2) co, (3) Lord Lytton (2) Bijapur
(3) Nitrous Oxide (4) Lord Dalhousie (3) Golkunda
(4) Hydrogen Peroxide 10. Who discovered Cholera | . (4) Hampi
2. Whereis the deepest trench T.B. germs? 14. Which of the following
Mariana located? (1) Robert Koch Articles of the Indian
(1) Indiz.a.n Ocean (2) Ronald Ross Constitution has the
(2) Arctic Ocean (3) Louis Pasteur provisions securing the
(3) Atlantic Ocean (4) Joseph Lister interests of minorities?
: (] aeie Qe 11. Who launched Non-Coo- (1) Article 14
3. Megawati Sukarnoputri is ;: . : :
th : peration Movement in (2) Article 19
e new President of India? (3) Article 29
j{g f;g;‘;gsi a({%f) ‘Jsii’inanka (1) Jawahar Lal Nehru (4) Article 32 :
4. Dolphin mobile cellphone (2) Dadabhai Nauroji - HUV.J LI b_anks S
service is provided by (3) Mahatma Gandhi nationalised in India in
(1) ESSAR (4) Chitaranjan Das 19697
(2) AIRTEL 12. Gartang, Zaskar, Dras and (1) 8 (2) 14
(3) Birla AT & T Shingar are tributaries of (3) 20 (4) 6
(4) MTNL
5. Red Blood Corpuscles (RBC) TEST—Z
are formed in 2
(1) Kidney GENERAL INTELLIGENCE/GENERAL
2) Bone Marrow
e MENTAL ABILITY/REASONING
(4) Lungs ,
6. Pulitzer Prize is associated | 16. In the following number four equations would be
with series, how many 8's are correct?
(1) Literature and Jour- there which are Given interchanges :
nalism immediately preceded by a signs x and +,
(2) Environmental Study number which does not numbers 4 and 9
(3) International Sympathy divide it but followed by a (1) 94 x 7 + 47 = 329
(4) Science and Technology number which divides it? (2047 x9+94=18
7. Which part of the plant 282838588532823 (349 x7+49=7
gives turmeric? 84715838286 (4) 94 x 7 + 97 = 324
(1) Stem (2) Fruit (1) One (2) Two 19. The sum of the ages of a son
(3) Root (4) Flower (3) Three  (4) Four and father is 56 years. After
8. Who was the first Speaker | 37, Find out the missing four years, the age of the
of the Lok Sabha? number ‘in the following father will be three times
(1) Hukum Singh e that of the son. Their ages
(2) M.A. Aiyangar 101. 100 87. 71 respectively are .
(3) N. Sanjeeva Reddy 46 : : syl (1) 12 years, 44 years
(4) G.V. Mawlankar 1) 92 @) 96 (2) 20 years, 36 years
9. First census in India during (3) 88 (4) 89 (2] ig years, zg years
the Brltishypesiin 18. Ifthe given interchanges are Wloas e

Find out the wrong number
in the series given below ;




